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Test #3 Review Forces

This test will cover:

Vocabulary 

Newton’s 3 Laws of Motion 

Force Problems

Momentum Problems 

Conservation of Momentum Problems (HONORS only 3rd and 4th Periods)

Vocabulary 

Force

Newton

Newton’s 1st law of Motion

Newton’s 2nd law of Motion

Newton’s 3rd law of Motion

Inertia

Mass

Net Force

Equilibrium 

Momentum

Friction 

Newton’s 3 Laws of Motion 
*Study your class notes on Newton’s Laws of Motion! You will be responsible for that information in addition to the information below!*

1. What is the 1st Law of Motion?

2. What is the 2nd Law of Motion?

3. What is the 3rd Law of Motion?

Read the examples below and decide which Law of Motion it is describing. Write down which law it is (1st, 2nd, or 3rd) and why. 
1. A fireman turns on his hose & is knocked backwards

2. A bowling ball hits the pins sending the pins flying for a STRIKE!

3. Push a large box & a small box with the same force, the small box will go faster.

4. Someone crashes their bike into a rock & is thrown over it to the ground.

5. If air is let out of a balloon quickly, air pushes down & balloon goes up.
Force Problems
1. What is the equation used to solve for Force?

2. What is the math triangle for force?


3. A force of 20 N acts upon a 5 kg block. Calculate the acceleration of the object.
4. An object of mass 300 kg is observed to accelerate at the rate of 4 m/s2. Calculate the force required to produce this acceleration.
Momentum Problems 
1.  What is the equation used to solve for momentum?

2. What is the math triangle for momentum?


3. Calculate the momentum of a 11.35kg wagon rolling down a hill at 12m/s.
4. A pitcher throws a ball with a momentum of 5.83 N. Given that the baseball has a mass of 0.145 kg, what is its speed?
Conservation of Momentum Problems (HONORS only 3rd and 4th Periods)

1.  What is the equation used for conservation of momentum?

2.  A 1.50 kg ball moving at 8.00 m/s south, strikes a 2.00 kg ball moving at 3.00 m/s south. If the velocity of the 2.00 kg ball after the collision is 4.50 m/s south, what is the velocity of the 1.50 kg ball?
3.  A 3.0 × 105 kg freight car moving at 2.5 m/s east, strikes a stationary 1.5 × 105 kg car. If the two cars end up connected to each other, what is their resulting velocity?

